Details of )(,%mﬂt Q) ¥RBZLL xS

University of Science and Technology of China

10t ; 1§% %
10° £ E 1§; é
1¢; ; 10 :
0720 40 60 80 100120140160180200 S
10° No piO chisq E
102;—

0 20 40 60 80 100120140160180200 1



Event Selection
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» Charged Tracks
e V. <10cm
e 1V, <30cm
* |cosO| < 0.93

> PID

* Proton:p > 0.5 GeV && PID:
Prob(p) > Prob(K/m)

* Pion:p < 0.5 GeV && PID:
Prob(r) > Prob(K/p)

* nProton>1;nPion>1

> A Reconstruction

* Primary and Secondary vertex fit

e Choose p ™" with least y2,,

e L/og >2.0

* Xéec <15

*  |Myp+ —1.1157| < 0.008 (GeV /c?)
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» Shower Selection
* |cosf| <08, E > 25MeV
* 0.86 < |cosO| <092,E >50MeV
« 0<TDC <14
* Nshower = 2
* Angshower,ChgTrk = 10° (for p = 20°)
¢ QA, shower = 10°
> 1% 1C Kinematic Fit
° )(72T0 < 25
* 75<M,, <175 (MeV)

* |E,, —E,,|/pz0 <08

» Kinematic fit
* Loop all #%, do kinematic fit of Ann®

* Missing neutron

« Constrain M,, o = MAPC

* Constrain Py = P+ B, + Po0

* Xiemsie < 30 ,
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Using PHSP MC to test:
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